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And is he exempt according to »aR; but 1'' said, etc.

OVERVIEW

The X 3 asked how can we assume that according to ™R, a 77 who eats 217N
(7°1m2) is Mo from paying on account of 7"2%p, when 11"9 ruled that since the 2vn
17 precedes the 701 21°1 there is no »"2%p.

mdoIN anticipates a difficulty:
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The &) could have also asked on the mwn» of w''> P75 where it states that if
one ate 17092 7211 N2170 he is exempt from payment, the same question would apply -
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According the 71171 " there who established that 71wn according to 77''219, that he
is Mvd because of n"2%p. This would seemingly contradict the view of X701 29, just as the view
of »aX seemingly contradicts the view of n".2

mooIn does not explain why there was no question asked regarding that mwn.?

SUMMARY
The difficulty on 2R (that the 1»n 21 and 70 21°7 not simultaneous) applies to
the 71wn in 2o as well.

THINKING IT OVER

There seems to be a difference whether the contradiction is from »2X or from the
mwn. Here *°aR made no statement, it i1s the X737 X”N0 which assumes that
according to "X the rule is 7N 228w 77 is Mwd. The XMy challenges this
assumption from the ruling of 1. The X 3, however, cannot challenge the ruling
of the mwn from the ruling of 1"7 who is an X7 K; the question is on "1 not on the
mwn!

' See (also) previous 77 11"7 '01n [TIE by footnote # 12].

% The question on »ax from 1" is that 1" rules that the 72 of n"2% does not apply to paying for eating something
which was taken illegally, since the 71m 2111 precedes the nn 2. This applies to the 71wn in 21oo as well as to
"X here.

? See 3"5 nIX 7"210 and others for possible explanations, why that question was not asked.
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